Answers to OAD 1988
1. A solution of potassium iodide is added to an acidified solution of potassium dichromate.

Reaction type: redox 

Answer: I- + H+ + Cr2O72- ( Cr3+ + H2O + I2
2. A solution of sodium hydroxide is added to a solution of ammonium chloride.

Reaction type: double replacement
Answer: OH- + NH4+ ( NH3 + H2O
3. A strip of magnesium is added to a solution of silver nitrate.

Reaction type: two metals ( redox 
Answer: Mg + Ag+  ( Mg2+ + Ag
4. Solid potassium chlorate is heated in the presence of manganese dioxide as a catalyst.

Reaction type: decomposition (AKA redox) 

Answer: KClO3  
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Note: MnO2 is a catalyst.  That means it is NOT a reactant.  It should be written over the arrow.
5. Dilute hydrochloric acid is added to a solution of potassium carbonate.

Reaction type: redox 

Answer: H+ + CO32- ( H2O + CO2
Note: Recall that when carbonic acid is formed, it decomposes into carbon dioxide and water.

6. Sulfur trioxide gas is added to excess water.

Reaction Type: nometal oxide + water ( acid (no change in oxidation states)
Answer: SO3 + H2O ( H2SO4
7. Dilute sulfuric acid is added to a solution of barium chloride.
Reaction type: Lewis acid/base
Answer: SO42- + Ba2+ ( BaSO4
8. A concentrated solution of ammonia is added to a solution of copper(II) chloride. 
Reaction type: complex ion formation 

Answer: NH3 + Cu2+ ( [Cu(NH3)4]2+
.
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